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Number of Questions to be attempted : 16

Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266458
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226614001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer
1, Neil Armstrong a. Kitty Hawk, North Carolina

ii. Wright Brothers  b. Venetian merchant
iii.  Marco Polo E Travelled on Pacific ocean
iv.  Ferdinand Magellan d. Apollo 11 mission
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1. i-d. 1-b. 1-c. 1v-a

8 1-b. 1u-d. 1i-c. 1v-a

i-c. 11-b. 1i-a, 1v-d
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4. i-d, 1i-a. 11-b, 1v-c
Options :
1. %1
2. % 2
3.%3
4. 4

Question Number : 2 Question Id : 39226614002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Breast stroke, Butterfly. Free style. These words belongs to

L. Wrestling
2. Swimming
3. Cycling

4. Boat race
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Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 3 Question Id : 39226614003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct answer regarding 2024 Sahitya Academy
Awards - Novel category

1. Swrni Thakhwi a. Aron Raja
ii. Spirit Nights b. Sohan Koul
iii.  Psychiafric ward  c. Easterine kire
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4. 1-c. 1i-a, 1ii-b

Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 4 Question Id : 39226614004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Buland Darwaja of Fatepur Sikri is
1. Highest gateway

2. First Mughal fort
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Largest dome
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Biggest residential building
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Options :
1.4 1
2. % 2

3. % 3
4. % 4

Question Number : 5 Question Id : 39226614005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Blue Book 1s a/an
1. Official publication of China
78 French official book

Official report of Japan
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4, Official report of British Government
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1. %1
2. %2
3.%¥3
4.9 4

Question Number : 6 Question Id : 39226614006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding FIFA Football awards-2024

held in Doha.

1. Best Men player a. Alyssa Naeher

ii. Best women player b. Vinicius Jr

iii.  Best Men Goalkeeper vl Aitana Bonmati
iv.  Best woman Goalkeeper d. Emiliano Martinez
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2 1-b, 11-d, 1i-c, 1v-a

1-b, 1-c, 1i-d. 1v-a
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4. i-a, 1i-d, 11-b, 1v-c

Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 7 Question Id : 39226614007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer regarding Author and books

i. APJ Abdul Kalam  a. Sahasra Phan

i. Nelson Mandela b. Nayanam Idam Dhanyam
iii. P.V. Narasimha Rao c. Indomitable Spirit

iv. Narendra Modi d. Long walk to Freedom
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Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 8 Question Id : 39226614008 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Yamini Krishna Murthy is an Indian dancer of these styles of
dancing

1. Bharatanatyam and Kathakali

2. Bharatanatyam and Kuchipudi

3 Kuchipudi and Kathak

4, Odissi and Manipuri
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Options:
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 9 Question Id : 39226614009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



She does not belongs to Final Team of 2025 under-19 women
T20 World Cup-2025

1. Gongadi Trisha
2, Rinku Singh
3. Sanika Chalke

4, Parunika Sisodia
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Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 10 Question Id : 39226614010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘Udan’ scheme is related to

1. Fuel
. Medical
2l Industrial

4. Air travel
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Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 11 Question Id : 39226614011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Dam that 1s being built by China on the river Brahmaputra is
located at

1. Tawang in Arunachal Pradesh
2. Medog County in Tibet

3. Boomla i Arunachal Pradesh

.

Shannan county in Tibet
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Options :
1. % 1
2.9¥ 2
3.%¥3
4, % 4

Question Number : 12 Question Id : 39226614012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Deep Tech integration in Vision — 2047 means
1. Technology in Medicine
2. Formation of software institutions

Formation of worldwide network of software
mstitutions
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4, Usage of technology in all aspects of daily life
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Options :
1. %1
2. %2
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4.9 4

Question Number : 13 Question Id : 39226614013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Health services program for pregnant women through
mobile started by central government

1. Abkari
fof Kilkari
3; Amrutha
4. Sabla

KB)e0oH 30086 aYTr &5y H5TTE0 ©0B0B0mHM ol
(Babeigo DHGT FnPS Do SHER0

[ e

1. @) .0
2. Ee.ﬂb_a
3. ©:50)
4, mg};

Options:
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 14 Question Id : 39226614014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Chief guest for the Indian Republic day celebrations - 2025
was

1. Karin Keller Sutter - Switzerland
2; King Mohammed - Morocco
3. Prabowo Subianto - Indonesia

4. Mette Frederiksen - Denmark
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1. % 1
2. % 2
3.v 3
4. % 4

Question Number : 15 Question Id : 39226614015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Brand ambassador for World Kho Kho Cup 2025
L. Salman Khan

2 Amir Khan

3. Sakthikant Das

4. Virat Kohli
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Options :

1.9 1

2. % 2

3.%3

4, % 4

Question Number : 16 Question Id : 39226614016 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Forest Department arranged hatcheries to protect these in the
villages of Palakayathippa. Gullamoda. Jinkalapalem

1. Apis Honey Bee

2 Pelican Birds

. 3 Olive Ridley Turtle

4. Dolphins
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Options :
1. %1
2. %2
3.3
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Section 2

Section Id : 392266439
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 8
Number of Questions to be attempted : 8
Section Marks : 4
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266459
Question Shuffling Allowed : Yes

Question Number : 17 Question Id : 39226614017 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

This committee recommended Hindi as compulsory subject
1. Secondary Education Commission

2. N. Janardhan Reddy Committee
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Prof. Ramamurthy Committee
4. Prof. Yashpal Committee
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1.9 1
2. %2
3. %3
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Question Number : 18 Question Id : 39226614018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The word ‘Maqtab’ is dertved from Arabic word ‘Qutub’.
Qutub means

1. Gifts to children

2. Place to learn writing
3: Place of prayer
4. Textbook
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Options :
1. % 1
2.¥2
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4. % 4

Question Number : 19 Question Id : 39226614019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer
a. Creative thinking : accidental, dynamic, decentralized

b.  Critical thinking :  dissective, Hypothetical, Centralised

1. a - correct

2. b - correct

3 a. b - not correct
4, a. b - both correct
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Options :
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Question Number : 20 Question Id : 39226614020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This foreign organisation(s) provided financial support for DPEP
i ODA
ii. World Bank

iii.  UNDP
DPEP 5155 58 508 R8T 0BV 5% m{g(m)
i, ODA
ii. @ﬁoﬁwyf
iii.  UNDP
1. 1. 111
2. 11. 111
3. 1. 11
4, 1. 11, 111
Options :
1. % 1
2. % 2
3.% 3
4. 4

Question Number : 21 Question Id : 39226614021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘The Child Rights Convention’ was adopted by the United
Nations Organisation in this year
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1. 1956
2. 1966
3 1979
4. 1989

Options :



1. %1
2. % 2
3.%3
4.9 4

Question Number : 22 Question Id : 39226614022 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to this act, children above 6 years who are never
enrolled should be identified and enrolled in age appropriate
classes. and provide appropriate special training
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Options :
1. %1
2.9 2
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RTI - 2005
RTE - 2009
NEP - 2020
NPE - 1986

:No

Question Number : 23 Question Id : 39226614023 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



NEP — 2020 suggest the 5 + 3 + 3 + 4 school curricular
structure for this age students.

i 6 — 18 years
2. 3 — 18 years

6 — 14 years

L |

4. 3 — 14 years
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Options :

1. %1

2.¥2

3. %83

4. % 4

Question Number : 24 Question Id : 39226614024 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Fee to be paid for applying for information at the village level
office under the RTT Act -2005 is

L 5 Rupees
2. 10 Rupees
3. No fee to be paid

4. 3 Rupees
RTI Act -2005 (5750 IPibdpon 5°0750chos” H3rato
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Options :
1. %1
2. % 2
3.¥3
4, % 4

Section 3

SectionId : 392266440
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266460
Question Shuffling Allowed : Yes

Question Number : 25 Question Id : 39226614025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Characteristic feature of Pre-Operational Stage

1. Concept of conservation
2. Egocentrism

3. Object permanence

4, Deductive reasoning
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Options :
1. %1
2.9 2
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Question Number : 26 Question Id : 39226614026 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



External factors that affect the learning of a child

1. Age and Gender

2. Interest and Intelligence
3. Experience and Training
4. Emotions and Habits
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Options :
1. % 1
2. % 2
3.3
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Question Number : 27 Question Id : 39226614027 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Emotional tension resulting from the blocking of a desire or
need of a person is called

1. Anxiety

2. Frustration

3. Maladjustment

4. Fear
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Options :
1. %1
2.¥ 2
3. %3
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Question Number : 28 Question Id : 39226614028 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A girl acquired an ability to draw pictures from her parents
and she became a great artist through training. Developmental
principle involved here 1s

1. Principle of Interaction

2. Principle of Continuity

3. Principle of Interrelation

4. Principle of uniformity of pattern
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Options :
1.9 1
2. %2
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4. % 4

Question Number : 29 Question Id : 39226614029 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Characteristic feature of Projective tests is

1. Artificial stimulus

2. Natural stimulus
3. Ambiguous stimulus
4. Specific stimulus

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 30 Question Id : 39226614030 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding late child hood

a. Troublesome age, Sloppy age
b. Quarrelsome age, Play age

C. Gange age. age of conformity
d. Creative age
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Options :

1. % 1

2.9 2
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4. % 4

Question Number : 31 Question Id : 39226614031 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘Anthropometric Lab’ was established by

1. Wilhelm Wundt

2. Francis Galton
3. Ebbinghaus
4. Sigmund Freud
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Options :
1. %1
2.¥ 2
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4. % 4

Question Number : 32 Question Id : 39226614032 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Children stand up when the teacher enters the class. Learning
occurred here 1s

1. Insightful learning

2 Experimental learning

(8]

Trial and Error learning

4, Conditional learning
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Options :
1. %1
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4. ¥ 4

Question Number : 33 Question Id : 39226614033 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to Vvgotsky Scaffolding means
L. Support given by MKOs 1n learning
7] Motivation given by MKOs in learning

Punishment given by a teacher in learning

T4l

-

Reinforcement given by MKOs is learning
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Options :
1.4 1
2. % 2
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Question Number : 34 Question Id : 39226614034 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The correct statement among the following
L. Attitudes are innate and acquired

2, Aptitudes are innate and acquired

fad

Interests are innate and acquired
4. Habits are innate and acquired
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Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 35 Question Id : 39226614035 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer

a. Id - Biological. Inherited. Law of happiness
b. Ego — Environmental, Crude behaviour, Law of reality
C. Super ego — Inner self, Supervisor, Law of Ideal
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4. ab.c

Options :

1. %1

2.9¥2

3. %3

4. % 4

Question Number : 36 Question Id : 39226614036 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



CAVD test is prepared on the basis of this intelligence theory
1. Two factor theory
2. Group factor theory

Multi factor theory

Tad

4, Theory of Structure of Intelligence
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Options :
1. % 1
2. %2
3.43
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Question Number : 37 Question Id : 39226614037 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A child wants to play with a cat but is scared that it may bite.
Conflict here is

I. Approach - Approach
2 Approach - Avoidance

Avoidance - Avoidance

Tad

4. Dual Approach - Avoidance
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3. 20T - DOIE
4. 635 ERN - DO
Options :
1. % 1
2.¥ 2

3. %3
4. % 4

Question Number : 38 Question Id : 39226614038 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding leaming curve

a. Efficiency will increased along with number of trails
b. Number of errors will be reduced with increase of trails
C. ‘S’ shaped learning curve may occur when the content

is complex, simple, complex.
VIO S| EOPH H022080D $TS VITFH0 KHYoSos.
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ST ‘S’ 5°80S" D).
1. a.b
2 a. C
3 a.b.c
4. b.c¢
Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 39 Question Id : 39226614039 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A student got admission into a new school. Yet he/she mingled
easily with other children. The intelligence of the student 1s

1. Language Intelligence
b5 Inter Personal Intelligence

Intra Personal Intelligence

Tad

4, Logical Intelligence
25 IogQ SET FEToS T05H)8S eEto/e
TPer 0o ey 33%}7@93'5 E¥OJPS5E0 2dR08. @anS
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3. SEosUs 5y
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Options :
1. % 1
2.¥ 2
3.%3
4, % 4

Question Number : 40 Question Id : 39226614040 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As per Erickson, the psycho-social crisis faced by children of
age group 2 to 3 years

1. Intimacy Vs Isolation
2. Autonomy Vs Doubt

Initiative Vs Guilt

Tad

4, Industry Vs Inferiority

DOERS (BS°E0 2 $r0& 3 Vo SSHR0) Bpew TS
Do 35 D8R,

L 3Qrdo Vs dstoo

2. Bcio (3G Vs sodwro

W

SPEsSnEo Vs @ﬁjﬁ%‘”ﬁ@ 2T°5505

4. @Eboﬁaio Vs ;5::"@5;3@:6

Options :
1. %1
2.9 2
3.%3
4, % 4

Section 4
Section Id : 392266441
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266461
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226614041 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
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| 4 ¥-2, S5-9, §-6%, B:-8
2. ®-0, e5-3J, §-0, B3-8
3: ©-Y, -3, 3-d, E3-9
4. ©-8, es-d, 3-2, S3-©

Options :

1.9 1

2. % 2

3.% 3

4, % 4

Question Number : 42 Question Id : 39226614042 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1. e, €3, 3

2, ©, 3, 53

3. es, 3, 852

4, e, e3, B3

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 43 Question Id : 39226614043 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.¥ 2
3. %3

4. % 4



Question Number : 44 Question Id : 39226614044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.¢1

2. % 2

3.% 3

4, % 4

Question Number : 45 Question Id : 39226614045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 46 Question Id : 39226614046 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. %1

2. % 2

3.%3

4.9 4

Question Number : 47 Question Id : 39226614047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 48 Question Id : 39226614048 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2.9% 2

3. %3

4. % 4

Question Number : 49 Question Id : 39226614049 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. %2
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4.¥ 4



Question Number : 50 Question Id : 39226614050 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 51 Question Id : 39226614051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options:
1. %1
2.¥2



3. % 3
4. % 4

Question Number : 52 Question Id : 39226614052 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

208 TAS® T Koo

1. Fa"é;ﬁ_jﬂs-U |
2 & -1 |
3 @m;o- Uu
4 200 - | U
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 53 Question Id : 39226614053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
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Question Number : 54 Question Id : 39226614054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. % 2
3.% 3
4. ¥ 4

Question Number : 55 Question Id : 39226614055 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3. % 3
4. % 4

Question Number : 56 Question Id : 39226614056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options:
1.9 1
2. % 2
3.% 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266462
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 39226614057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options:
1. %1
2.9 2
3.%3
4. % 4

Question Number : 58 Question Id : 39226614058 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.¥ 2
3. % 3
4. % 4

Question Number : 59 Question Id : 39226614059 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

DoAGRHE BT} & gosd>" HHod BOEEHE

1. A0S 0
2. %88
3. ;i?%;‘hae:g
o2
4. Q’“Sﬁo&
Options:
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 60 Question Id : 39226614060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.%3
4.¥ 4

Question Number : 61 Question Id : 39226614061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.% 3
4, % 4

Question Number : 62 Question Id : 39226614062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 63 Question Id : 39226614063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.¢ 2
3. %3
4. % 4

Question Number : 64 Question Id : 39226614064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. % 2
3.3
4. % 4
Section 5
SectionId: 392266442
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 392266463
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226614065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the positive statement matching the following negative
interrogative sentence.

Hadn’t they already eaten dinner?
L They hadn’t already eaten dinner.

2. They had already eaten dinner.

(b

They hadn’t eaten dinner already.

4. They hadn’t eaten already dinner.

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 66 Question Id : 39226614066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the negative interrogative form of the following
statement.

You are going to the party.

1. Are you going to the party?

& You are not going to the party.

3. Are you not going to the party?
4. Do you not going to the party?

Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 67 Question Id : 39226614067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



She achieved a new personal high in her marathon time.

Identify the part of speech of the word ‘high® m the sentence
above

1. Verb
2 Noun
% Adjective
4, Preposition
Options :
1. % 1
2.2
3. %3
4. % 4

Question Number : 68 Question Id : 39226614068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

She chose light jacket for the hike.

Choose the word that functions as an adjective in the sentence
above.

1. She
2. chose
3. light
4. hike

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 69 Question Id : 39226614069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



[ lit fire at 6 pm. and it (burn) brightly, when Tom
came in at 7 pm.

Choose the option that fits the blank.
1. had burn

7. 1s bumning

T4l

was burning

4, will burn

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 70 Question Id : 39226614070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A:  Where have you been?

B: I (be) to the dentist.

Choose the option that fits the blank.

1. was

2

have been

was been

()

1. am been

Options:
1. %1
2.¥2
3.%3
4, % 4

Question Number : 71 Question Id : 39226614071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



She has been deaf my advice.

Choose the proposition that fits the bank

1. fo
2 at
3. with
4. n
Options:
1.4 1
2. %)
3. %3
4. % 4

Question Number : 72 Question Id : 39226614072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

John Keats contributed to the world his poetry.
Choose the option that fits the blank.
1. for the sake of

2. by the purpose of

LS}

by the reason

4, by way of

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 73 Question Id : 39226614073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the syllable in the word ‘elephant’ that receives
primary stress:

1. el
2. e
3. ph
4. ant

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 74 Question Id : 39226614074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct list of words in alphabetical order.
L. fate, faithfully. faithful. faith

2 do. does. did. done

3. Sunday. Monday. Tuesday. Wednesday

4, faith. faithful. faithfully. fate

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 75 Question Id : 39226614075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



doesn’t worry

Choose the option that fits the blanks in the sentence above.

1. The darkness. cats

-2

Darkness. the cats

The darkness. the cats

(8]

4. Darkness. cats

Options :
1. %1
2. % 2
3.%3
4. 4

Question Number : 76 Question Id : 39226614076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

She 1s darker of the two girls.

Choose the article that fits the blank.
I a

-2

an

the

L |

4, No article 1s needed

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 77 Question Id : 39226614077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The writer of “Macavity: The Mystery Cat” 1s
1 John Keats
5.4 William Wordsworth
3. T S Eliot
4. Robert Frost
Options :
1. % 1
2. %2

3.¥3
4. % 4

Question Number : 78 Question Id : 39226614078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The author of the short story collection “Malgudi Days™ is:
I; Anton Chekhov

2. Ruskin Bond

Roald Dahl

4. R.K. Narayan

LS |

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 79 Question Id : 39226614079 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the following that adds richness and complexity to an
autobiography:

1. avoiding character development

2. focusing solely on achievements

LS ]

developing characters and relationships.

4. 1gnoring historical context

Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 80 Question Id : 39226614080 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement about purpose of note-making.

1. It is primarily intended to make information easily
forgettable.

2. It serves as a way to clutter the mind with unnecessary
details.

Tl

It helps in recalling and reviewing information for
future use.

4. It 1s a designed to obscure the main points of a lecture
or meeting

Options:

1. %1

2. % 2

3.3

4, % 4

Sub-Section Number : 2
Sub-Section Id : 392266464
Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 39226614081 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the incorrect statement about the nature of the English

language.
1. English is a static language that never changes.
2. English is influenced by various languages over time.
3. English is a complex and evolving linguistic system.
4. English is affected by cultural or social factors.
Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 82 Question Id : 39226614082 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The aim of teaching is not to achieve:
L Spiritual objectives.

2. Behavioural objectives

3. Cognitive objectives

4. Affective objectives

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 83 Question Id : 39226614083 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the incorrect statement about reading skills:
1. Skimming 1s used to quickly gather key mmformation

Z; Reading improves vocabulary

[N

Scanning involves reading every word in detail

4, Guessing word meaning from context aids
comprehension

Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 84 Question Id : 39226614084 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the technique for developing confidence in speaking

english:
1. Avoiding all forms of conversation
2 Fostering an authentic practice environment

[N ]

Discouraging leamers from speaking in pairs

4. Restricting speaking to scripted dialogue.

Options :
1. % 1
2.¥ 2
3.%¥3
4. % 4

Question Number : 85 Question Id : 39226614085 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Select the correct statement about organising remedial work
for gramimar:

1. Remedial work should be focused on high achievers.

2 Remedial work should be completely independent of
classroom activities

L

Teachers should not pay attention to individual needs.

4, Remedial work should involve creative and
1maginative strategies

Options:

1. % 1

2. % 2

3. %3

4.4 4

Question Number : 86 Question Id : 39226614086 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Teaching learning materials are crucial for developing skills
in:
1. Listening and Speaking

2 Writing only

(b

Reading only
4, Calculations

Options :
1.41
2. %2
3.%3
4, % 4

Question Number : 87 Question Id : 39226614087 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The main focus of a Traditional classroom 1s on:
I; Active engagement and reflection.
2. Group discussions

Teacher-centred mstruction

L |

4, Constructivist approach

Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 88 Question Id : 39226614088 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a feature of a good textbook.

I Organization of subject matter

2. Inclusion of irrelevant content

3. Presentation of content logically

4. Simplicity and clarity in language
Options :
1. % 1
2.¥2
3. % 3
4. % 4

Section 6

Section Id : 392266443
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 392266465
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 39226614089 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
S metre long wire is broken mnto two pieces in such a way

: A | ;
that one piece length is Imen‘es. Then. the length of the

second piece in metres

?:oeag P&y Ko B Dok Sk eon DSRODTLPe

oo |

| o e §
2 S0¥) FEH — Hoeoth) @and BoEs S0 FED NeayS’
4 £ &

6
1 i
16
q
2. —
16
3. 2
8
5
4 et
8
Options :
1. %1
2. % 2
3.%3
4.9 4
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There are 100 students in a hostel. The food provisions for
them is for 20 days. After 10 days. 25 more students joined the
hostel. How long will the remaining provisions last?
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Options :
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2.9 2
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Display Question Number : Yes
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Identify the ratios which ‘DO NOT" form a proportion.
1. 25cm: Imand¥40 :T 160

2. 39 litres : 65 litres and 6 bottles : 10 bottles
2kg:80kgand25¢g:625¢g

4. 200ml : 2.5 litre and ¥4 : T 50

208 7US° erEod” B e KHBoS0k.
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1. 25 0.2, 11 % 558050 T 40 : T 160

2. 39 & : 65 & 508350 6 28349) : 10 e
3. 28 = : 80 E-L{T" 8w 25 | 1 625 (I
4. 200 .9. : 25O 508050 T 4 :T 50

Options :

1. ¥ 1

2. % 2

3.4 3

4, % 4

Question Number : 92 Question Id : 39226614092 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a toy is bought for ¥72 and sold at ¥ 80, then the profit
percent is

2, ¥ 25”;3’3& T725 DT80 & @m&aﬁ eT2S Foe5 50
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1. 11-%
9
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2 11=%
9

. Lo

3 10—%
9

4. 10%

Options:



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 93 Question Id : 39226614093 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the diagonal of a rectangle is 17 cm and its length 1s 15 cm
then. its breadth 1s (in cm)

2.5 Y SR K 17 0.0, S0 ol FEY
15 R00.20. ©onS T SEen) (R0.0.08°)

8

2

—_ 0
-2
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Options :
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Display Question Number : Yes
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Take any poimnt ‘O’ in the mterior of a triangle PQR. Identify
the statement that 1s NOT TRUE

@oz0 PQR &), @08808" 23 2.5 Doy ‘0%

B850, B0 S (HIBTRY) Koo,
)

1. PQ<PO+QO
2. RO>QR-QO
PR + RO < PO
4. QR-RO<QO

(Y]

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 95 Question Id : 39226614095 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



. 3 : .
If you stand facing East and make 11 of a revolution anti

clockwise, then the direction you will face is

1. East
2. West
3. North
4, South

Dot SrEHNBFE Aot Jowd Bibsigous” 1%
POZEDEI0 BIFYE AL &0t BF

1. e:fi:bdao)
2, e
3. &80
4. &30
e

Options :

1. % 1

2. %2

3.%¥3

4.9 4
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Display Question Number : Yes
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The shape formed by rotating a right angle triangle about one
of its perpendicular sides

1. Cylinder

2, Cone

3. Hemisphere

4, Sphere

2.¥ ©025% (Bzbeso G320, DO 5 0o ZH:n esgrEom

(50820 DOSYE Yo 580
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44
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Options :
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2.¥2
3. %3
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Question Number : 97 Question Id : 39226614097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

xrx 4. x.3x 1 .
If 1= Z4+2 422 == then value of ‘x

2 5 5§ 10 5
% - - 5% G} 5 &
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2 5 5 1 5
1. —1
2 0
3 1
4. a

Options:



1. %1
2. % 2
3.3
4. % 4

Question Number : 98 Question Id : 39226614098 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the value of the expression 2x°+3x’—4x+a is equal to 0
(Zero) when x = — 1. then the value of ‘a’ 1s

x=-1 &ﬁomaa’?.ﬁy&b 27 43¢ —dx+ a HBETH0 Dends

0 (‘&'1::3‘3) ©ond ‘a’ S0, Qe

i -9
2. =3
3 -1
4. 423

Options :

1. %1

2.¥ 2

3.%3

4. % 4

Question Number : 99 Question Id : 39226614099 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The value of [(—4)E + 4"]2 x (16)7° 13

[(-9)°+ 4—*]2 x (16)° @wk)_ Jews

1
1. —
42
=
3 —(4)°
-1
. 4
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 100 Question Id : 39226614100 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The result obtained when 24(3-1.1: + 070+ .1;1:-’) is divided by
23z 1S

2’—1(3’1}':-1-.1_".'2.'-1-.1_‘!‘_'2) S 120z 3 E.Fﬁoiimé.ﬁiiu PSTITI NG

1. (x+v+2)
2. (x1v+ 12+ 2x)
3. 2(x+v+2)

4. (:ﬁ +y'+ :3)

Options :
1. % 1
2. %2
3.¥3



4. % 4

Question Number : 101 Question Id : 39226614101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

th

In a pie chart, if a sector is drawn as 5 part of the circle,

-

then the angle of the sector is

e e - g 5
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1 150°
2 160°
3 180°
4. 80°
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 102 Question Id : 39226614102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Express the time 23 : 45 hours in 12 hours format
23 1 45 Kok PBATY) 12 Hobeo ErHod” SEEHLHST
X, 11:45am
2 11:45 pm
3. 10 : 45 am
4. 10 : 45 pm

Options :
1. %1



2.9 2
3.% 3
4. % 4

Question Number : 103 Question Id : 39226614103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perimeter and area of a trapezium PQRS are 50 cm and
48 cm’ respectively. PQJ|SR. PS = QR = 13 c¢m and PN | SR
then the length of PN in centimetres is

@>8030 PQRS &), ey Fod 500k JTeg0 St
50 0.2, 48 $20.5. PQJ|SR. PS = QR =13 %0.2.
8w PNLSR @ons PN &) & 00.0.08°

1. 4
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Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 104 Question Id : 39226614104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If the volume of a rectangular wall is 23958 cm’ and its height
is six times of its breadth and its length 1s half the height. then
the breadth of the wall in cm 1s

2.¥ égmm:ra@ AP @0k W0SD050e20 23958 30.200.20.
0D TP &, T IEe0)H eth Bew, FEY WS HARO
Q0 AT ?ad:imﬂj 035
1. 21
= 15
3 14
4, 11
Options :
1. %1
2. % 2
3.% 3

4.9 4

Sub-Section Number : 2
Sub-Section Id : 392266466
Question Shuffling Allowed : Yes
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Socio-culture theory of learning was proposed by

. Piaget
Z Vygotsky
3. Francis Bacon

4. JWA young
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Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 106 Question Id : 39226614106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This method proceeds from concrete concepts to abstract
concepts
1. Analysis
2. Synthesis
3. Deductive
4, Inductive
S0l arHTe 5008 el erESeH TroBcin HEB

=
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2, mogaea

3 Dk
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Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 107 Question Id : 39226614107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Heuristic method was discovered by
|| H.E. Armstrong

b Aristotle
3. Cominius
4 JWA Young

-
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Options :
1.9 1
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Question Number : 108 Question Id : 39226614108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The book *Ganithasaara samgraham” was written by
I Aryabhatta

2. Srinivas Ramanujan
: Bramhaguptha
4. Mahaveeracharya
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Options:
1. % 1
2. %2
3.%3
4.¥ 4

Question Number : 109 Question Id : 39226614109 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



These are the characteristic of a good text book

a. Content

b. Presentation
C. Editing

d. Big in size

3D & 3“55@:}5 OEETeD
a. 250500

b. S cﬂ:‘&:&i&dﬂaﬁ
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Options:

1. %1

2.9 2
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Question Number : 110 Question Id : 39226614110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The second step of the lesson plan as per Herbartian approach
1. Presentation

X Recapitulation

3. Preparation

4, Assignment

TPO7)RC0S SDHDIOM BHO0D FEHESE BSSS® BoES
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Options :
1.1
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Question Number : 111 Question Id : 39226614111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following is not related to Continuous Comprehensive
Evaluation

1. Project works

2. Slip test

3. Summative evaluation

4, Difterentiated Learning Test
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Question Number : 112 Question Id : 39226614112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Non visual teaching aid is

1. Chart
2. Pegboard
h Video

4, Audio Recordings
Sy SESTI8easn A8

1. fﬁtﬁg}
2. RAS
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3. déd&o

4. e3é B Osr0oben
Options:
1. %1
2. % 2
3.%3
4.4 4

Section 7

SectionId: 392266444
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266467
Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 39226614113 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the incorrect method to make our home ecofriendly

1. Grow kitchen garden for fresh vegetables.

2. Switch off lights and fans while leaving room.

3. Place the dry and wet waste in a common dust bin.
4. Use kitchen wastes as manure.
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Options :
1. % 1
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3.v 3
4. % 4

Question Number : 114 Question Id : 39226614114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The structure/s that enters into kidney through Hilus

i, Renal artery

ii. Renal vemn

iii.  Ureter

Tl oo $05°(g520508° 08 (93803 Ao )£30/A0° e300
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ii. SYE), D

111. W\ BTFO

1. 1
2. 11. 111
3. 11
4, 1,11
Options :
1.9 1
2. % 2
3.% 3
4, % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This 1s NOT an example of symbiosis
L. Fungi inside the root
2. Rhizobium in the root

Fungi with Algae

(S ]

4. Fungi on wood
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4. Bonp Ko 3dogo

Options :
1. %1
2. %2
3.%83
4. 4

Question Number : 116 Question Id : 39226614116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The disease Goiter is related to this gland

1. Pancreas
2. Adrenal
3. Thyroid
4. Pituitary

monts >0 B3 5083 102080958

1 £5:550

2
2. e @gsd
3. @ng
4. Eae;:oée.:é



Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 117 Question Id : 39226614117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is NOT suitable to control mosquitos

| Using mosquito nets and repellents.

1o

Keep surroundings clean.

sl

Allow water stagnation.

4. Spraying msecticides.
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Options :
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Question Number : 118 Question Id : 39226614118 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The power house of the cell is

. Plastids
2 Mitochondria
3. Golgi apparatus
4. Endoplasmic reticulum
Esa%'agsﬁﬁfﬁo
L 3G
coes
2. Do
s, e
3. ad) DOSRO
4. ©0¢58:3 LCSS-SSE“E:‘D
o o
Options:
1. %1
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Display Question Number : Yes
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Assertion A: Consuming milk and eggs make our bones and
teeth strong.

Reason R:  Milk and eggs contain calcium

L A 1s correct and R is incorrect

12

A 1s mcorrect and R 1s correct

LS ]

Both A & R correct and R is correct explanation of A

e

Both A & R correct but R 1s not correct explanation of A
BELS A: oo, (0E INETKO DT Ao¥en $8ckn
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Options :
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The features that help to identify the Viviparous

1. Feathers and scales

2. Hair and external ears

3 Invisible ears and no hair
4, Feathers and external ears
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Options :
1. %1
2.¥ 2
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Question Number : 121 Question Id : 39226614121 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Find the incorrect statement about circulatory system.

1. It transports the digested food from intestine to body
parts.
ii. It carries carbon dioxide from lungs to body parts.

ii. It transports waste material to excretory organs.

iv. It carries hormones to all body parts from exocrine glands.
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Options :
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Characters of the image formed by pin hole camera is
1. Erect. same size, virtual image
2. Erect. diminished, real image

Inverted, same size, virtual image

[N ]

4. Inverted. diminished. real image
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Options :
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‘Odometer’ 1 a vehicles measures the
I; Speed of vehicle
2 Acceleration of the vehicle

Distance travelled by the vehicle

L |

4, Velocity of the vehicle
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Options :
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This 1s NOT a byproduct of coal

1. Coke

2. Bitumen
3, Coal tar
4. Coal gas
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Options :
1. % 1
2.9 2
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Question Number : 125 Question Id : 39226614125 Question Type : MCQ Option Shuffling : No
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The correct expression with respect to frequencies produced
by different voices

. Woman < man. Lion > bird
3 Woman > man. Lion < bird
3. Woman < man. Lion < bird
4. Woman > man. Lion > bird
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



These are NOT the members of the solar system

i Constellations
b Comets
2 Asteroids

4. Satellites
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1 SE(STHen
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Options :
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Choose correct answer regarding animals and its way of

L=

communication

a. Visual Communication - Head retraction in snails
b. Auditory Communication - Trumpet of elephant

E. Tactile Communication - Cat licks kitten
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Alloys in the green layer formed when a copper vessel is
exposed to moist air for long time 18
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L. CuO. CuCO;
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Options :
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Question Number : 129 Question Id : 39226614129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This i1s not a substantive stiucture in the structure of science 1s

1. Law

2 Process
3. Concept
4. Product
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Options :
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4, % 4

Question Number : 130 Question Id : 39226614130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The correct order of steps in the introduction of period plan
L, Greeting — Mind mapping — Declaration of topic

2. Mind mapping — Greeting — Declaration of topic

fad

Greeting — Declaration of topic — Mind mapping
4. Greeting — Mind mapping — Conducting activities
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“Teaching Unit consists of two areas such as content and
process,” 1s defined by

1. Norman
2 Bossing
3. Prespon

4, Thurber. Collette
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A student expressed the collected information through a bar
graph. The academic standard acquired by him 1s

1. Conceptual understanding
2 Information skill
< Field trips

4, Appreciation
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“In addition to content part. personality related areas
are also comprehensively evaluated in evaluation™, 1s the
recommendation of

1. Ishwar Bhai patel committee
x Hunter’s committee
Kothari commission

4, Wood’s Despatch
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‘School Science” magazine published by NCERT is a
i. Tri monthly magazine
2, Monthly magazine

Yearly magazine

sl

4, Bi monthly magazine
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Omne of the following 1s NOT related to “5E" model of teaching
learning process

1. Engage
2. Encourage
3. Explain
4, Evaluate
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These are the characters of Maps and Models which are used
as teaching learning resources

1. Accuracy. Symmetry. Proportion
Z High cost. Accuracy. Proportion

Weightless. Low cost
4 Colourful. Easily available
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Correct Marks : 0.5 Wrong Marks : 0
This 1s NOT the characteristic of retreating monsoon
1. Clear sky and rise in temperature

. Moist land

(S ]

Low humidity in air

4. Contains “October heat™
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Based on latitudes, India 1s located in this hemisphere
1. Eastern Hemisphere

2. Western Hemisphere

S ]

Northern Hemisphere

4. Southern Hemisphere
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It is NOT a major threat to environment
1. Landslides. Soil erosion

. Soil erosion. Desertification

T4l

Land degradation, Landslides

4. Afforestation. Soil Conservation
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"‘Satyameva Jayathe’ 1s an extract from this Upanishad.

1. Mundaka

2, Altareya
3. Kaushitaki
4, Chandogya
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This 1s NOT true regarding Shivaji
1. Dadaji Kondadev taught him the lessons of warfare

2 Shivaji killed Afzal Khan with “Vyaghra Nakha’

LS ]

Aurangzeb’s general. Shaistakhan defeated Shivaji

4, Shivaji was confessed with the title Chatrapati at
Raigarh
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The British officer who asked Rennel to prepare Maps of India
was

1. Warren Hastings
2. Robert Clive

Comwallis

Td

4. Dalhousie
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He was mainly responsible for the impeachment of Warren
Hastings in the British Parliament 1in 1785.

I. Wellesley

2. Lord Hastings

3. William Jones

4. Edmund Burke
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Find out the correct statements about Coalition Government
A.  Political parties co-operate to form government.

B.  Itis an alliance formed by two or more parties with
common goals.

5 The usual reason for coalition alliance is that no single
party has achieved an absolute majority.
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One of the following cases comes under Civil Law

1. Divorce case

1o

Theft case

Dowry case

r

Murder case
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The poisonous chemical sprayed on agriculture fields and
forests of Vietnam by America in between 1961-71

1. Methyl isocyanide
2 Agent orange

Nitric oxide

Tad

4, Mercuric chloride
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11™ President of India
1. Smit. Prathibha Patil
2, Sri Ramnath Kovind
Dr. APJ Abdul Kalam
4. Sr1 Pranab Mukherjee
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Identify the metallic mineral

1. Mica

2, Gypsum
3 Lead

4 Limestone
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During the early 20" century, Bandanna patterns were mostly
produced in

1. Jammu Kashmir. Himachal Pradesh
2. Rajastan. Gujarat
3. Uttarpradesh. Bihar
4. Maharashtra. Karnataka
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The sites of ‘Indus Valley Civilization”™ were found in these

countries
A India
B. Pakistan

C.  Afghanistan
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The prisoners of war in Early Vedic Period were called as

L Rajadrohas

243 Dasas
3. Anyulu
4. Sathruvulu
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This 1s NOT a characteristic of Indus Valley Civilisation
1. Well planned cities

2; Underground drainage system

3. Expanded throughout India

4, Used baked bricks
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“Every child should have the knowledge of Indian culture,
tradition and heritage by the time he/she completes school
education and come out of a school.” - stated by

1. Kothari Commission

2.4 Iswar Bhai Patel Committee

b

Janardhan Reddy Commission

4. NEP-1986
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The concept of “Unity in Diversity” is a
1. Professional value
2 Political value

National value

[N

4 Creative value
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Recommendation of Eswarbhai Patel regarding Environmental

studies

a. For 1, 2 Classes teach through Teacher handbooks

b. Teach Environmental studies I. II in integrated manner
& For classes 3. 4. 5 through Textbooks

d. Teach Environmental studies L. II separately
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The ability to make a table by observing a given graph comes
under

1. Information skills
2. Mapping skills

Conceptual Understanding

fad

4, Appreciation and Sensitivity
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A teaching tool used to teach about the rise and fall of an
empire 1s

L. Family Tree Charts

2. Bar graphs

3. Pie graphs

4. Ven Graphs
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Rock inscriptions are
L Natural Resources
2. Physical Resources

Written Resources

LS ]

4. Unwritten Resources
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Social Studies was introduced as a major subject in the school
curriculum in this year
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The TLM used before starting of a lesson 13
L. Anecdotal record

ik Concept map

3; Secondary resources
4, Skill test
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